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 של הגנרטור. 1Pשווה להספק הכניסה \המנוע חייב להיות גדולהספק  –סעיף א' 

magPΔ+mecPΔ+cuPΔ+2G=P1GP≥mP 

0.75=150kW∙=200kφcos∙=S2GP 

𝑆

√3𝑈
=

200

√3∙480
= 240.6𝐴=L=IphI 

0.04=6.94kW∙2240.6∙=3aR∙2
phI∙=3cuPΔ 

=150k+6.94k+6k+4k=167kWmagPΔ+mecPΔ+cuPΔ+2G=P1GP≥mP 

 167≤200 -ואכן מתקיים 

  –סעיף ב' 

n=
60𝑓

𝑝
=

60∙50

1
= 3000𝑟𝑝𝑚 

M=
9.55𝑃

𝑛
=

9.55∙167𝑘

3000
= 532𝑁𝑚 

 –סעיף ג 

𝑈

√3
=

480

√3
= 277𝑉=phU 

°(0.75)=41.41-cos=Uφ 

E=326V     V°48.2<240.6(0.04+j0.25)=326∙°41.4<E=277 

°6.8 -48.2=  -=41.4Eφ-Uφ=δ 


